C:# Solving Words Problems (+ - + x) Name:

Use addition, subtraction, multiplication or division to solve each problem. Answers
1) Tom has 35 action figures he wants to display. If each shelf in hisroom can hold 7 figures,
how many shelves does he need? 1.
2) Theroller coaster at the state fair costs 5 tickets per ride. If you had 45 tickets, how many || 2.
times could you ride it?
3.
3) Tiffany was placing her spare change into stacks. One stack had 5 coins and the other had
6. How many coins did she have total ?
4.
4) For Isabel's birthday she received 7 dollars from her friends and 8 dollars from her
relatives. How much money did she get for her birthday? 5.
5) Emily's mom was buying extra school supplies for Emily and her sister. She bought 8 6.
packs of glue sticks total. If she gave Emily 2 packs, how many did her sister get?
7.
6) A delivery driver had to make 7 stops on his route. After he finished those deliveries he
made 2 more stops. How many stops did he make total ?
8.
7)  Amy had to complete 4 pages of homework. Each page had 3 problems on it. How many
problems did she have to complete total ? 9.
8) Paul bought a crayon box with 11 crayons. If he accidently broke 2 of them. How many 10.
unbroken crayons does he still have?
11.
9) Robin brought 12 pencilsto class on the first day of school. By December she had used 8
pencils. How many pencils does she still have? ,
12.
10) Dave was packing up hisold toys. He filled 6 boxes with action figures and 7 boxes with
old games. How many boxes did he pack total ? 13.
11) Gwen uploaded 6 picsto Facebook. If she put the picsinto 2 albums with the same 14.
number of photosin each album, how many photos were in each album?
15.
12) Lanasent out 10 birthday party invitations. If 8 people showed up, how many people didn't
come?
13) Adam made 6 dollars mowing lawns over the summer. If he charged 3 bucks for each
lawn, how many lawns did he mow?
14) Cody bought 9 boxes of candy. Later he bought 2 more boxes. How many boxes did he
have total?
15) Oliver was packing up his old toys. He managed to squeeze 5 toys into a box. If Oliver
filled up 3 boxes, how many toys did he pack total ?
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Ch Solving Words Problems (+ - + x) Name: Answer Key

Use addition, subtraction, multiplication or division to solve each problem.

1) Tom has 35 action figures he wants to display. If each shelf in hisroom can hold 7 figures,
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how many shelves does he need?

Theroller coaster at the state fair costs 5 tickets per ride. If you had 45 tickets, how many
times could you ride it?

Tiffany was placing her spare change into stacks. One stack had 5 coins and the other had
6. How many coins did she have total ?

For Isabel's birthday she received 7 dollars from her friends and 8 dollars from her
relatives. How much money did she get for her birthday?

Emily's mom was buying extra school suppliesfor Emily and her sister. She bought 8
packs of glue sticks total. If she gave Emily 2 packs, how many did her sister get?

A ddlivery driver had to make 7 stops on his route. After he finished those deliveries he
made 2 more stops. How many stops did he make total ?

Amy had to complete 4 pages of homework. Each page had 3 problems on it. How many
problems did she have to complete total ?

Paul bought a crayon box with 11 crayons. If he accidently broke 2 of them. How many
unbroken crayons does he still have?

Robin brought 12 pencilsto class on the first day of school. By December she had used 8
pencils. How many pencils does she still have?

Dave was packing up his old toys. He filled 6 boxes with action figures and 7 boxes with
old games. How many boxes did he pack total ?

Gwen uploaded 6 picsto Facebook. If she put the picsinto 2 albums with the same
number of photos in each album, how many photos were in each album?

Lana sent out 10 birthday party invitations. If 8 people showed up, how many people didn't

come?

Adam made 6 dollars mowing lawns over the summer. If he charged 3 bucks for each
lawn, how many lawns did he mow?

Cody bought 9 boxes of candy. Later he bought 2 more boxes. How many boxes did he
have total?

Oliver was packing up his old toys. He managed to squeeze 5 toys into a box. If Oliver
filled up 3 boxes, how many toys did he pack total ?
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Solving Words Problems (+ - + x) Name:
Use addition, subtraction, multiplication or division to solve each problem. Answers
15 5 11 9
13 3 9 12 1.
2 9 4 6
2
1) Tom has 35 action figures he wants to display. If each shelf in hisroom can hold 7 figures,
how many shelves does he need? 3
2) Theroller coaster at the state fair costs 5 tickets per ride. If you had 45 tickets, how many 4
times could you ride it?
5
3) Tiffany was placing her spare change into stacks. One stack had 5 coins and the other had
6. How many coins did she have total? 5
4) For Isabel's birthday she received 7 dollars from her friends and 8 dollars from her 7
relatives. How much money did she get for her birthday?
8
5) Emily's mom was buying extra school suppliesfor Emily and her sister. She bought 8
packs of glue stickstotal. If she gave Emily 2 packs, how many did her sister get? 9
6) A delivery driver had to make 7 stops on his route. After he finished those deliveries he 10.
made 2 more stops. How many stops did he make total ?
11.
7) Amy had to complete 4 pages of homework. Each page had 3 problems on it. How many
problems did she have to complete total ? 12.
8) Paul bought a crayon box with 11 crayons. If he accidently broke 2 of them. How many
unbroken crayons does he still have?
9) Robin brought 12 pencilsto class on the first day of school. By December she had used 8
pencils. How many pencils does she still have?
10) Dave was packing up hisold toys. Hefilled 6 boxes with action figures and 7 boxes with
old games. How many boxes did he pack total ?
11) Gwen uploaded 6 picsto Facebook. If she put the picsinto 2 albums with the same
number of photosin each album, how many photos were in each album?
12) Lanasent out 10 birthday party invitations. If 8 people showed up, how many people didn't

come?
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